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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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QL.

Q2.

Qs.

Q4.

Q5.

Q.

IR atamr el § et B @Rl () B s w6
2 7 9Rd # I WA o Gl # R, wieer A gftes w1 wheor S |
(150 wrsai ® 3w iforn)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

T AR ASTEN F F=rid GHIEN e gva R 2 yrd § e e B
e o for forefta wwmamt & waea o1 Seer@ HIfT | (150 weat § 3w Afdm)

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

uid # gt famor st (f.dua.) B mre gfet = 2 @ e e
STeft o UREE SR S " @ 2 (150 Wedl # I Aifvrw)

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

WA § e YHEhUT 3 & Hries 3K qaw &1 giewr avie i |
(150 wregf ® IR o)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

o ° g wwifaar § o qfy & w95 wwew wHifvat @ @ o § | um
T8 TGl -3 o § 3 3T GEUE B AR W IBW T AETF 2
(150 wreg} & Ier &)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gt H wag w 9fd a¥ 7w § ety v, doew, W oA S € ) 9e
dgere o6 wipfos wfkaed & qorar @ fred fF a8 wee emeteEe, S
A AT I} W Rafdd & S & 2 (150 weai § IR Afe)

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Ql11.

T fmio, ywre ot I FI Wew 30 §U Hlerhea Wi Hi fawmgds ==
HifT | 1999 F MIaT Hieiie w AT | (150 Tea) § I Eifom)

Discuss in detail the photochemical smog emphasizing its formation, effects

and mitigation. Explain the 1999 Gothenburg Protocol.
(Answer in 150 words)

el ITETEY % ey # aed wed o frarfafy iR wem i wHgRe | ' F @
JeTaEwl ==t hifT | (150 wsgi I i)

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words)

Trfsa ol % yer H "= Hif | i o idif T W Hisg gfed
Yy 3R dwaTiedl % " geyl 1 auie Hife | (150 I # IW &)
Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels.

(Answer in 150 words)

wRa # wgf gian gt #=n € 2 audt gean § guw % fag fi w gree,
Al 37 ufsraTens yael i faa=mn Hifs | (150 Wi # I i)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words)

“grar % Tl 1 anfdieh forshra s Scaresar § gfg % HRO Gwa g 2 |7 3@ H
= gugTsy | U Hafg vy @i weafad Afe St m Searewar & wwsiar fh fom
wiferep Tsr Il H wEEeh B | (250 Weal # I it

“Economic growth in the recent past has been led by increase in labour

productivity.” Explain this statement. Suggest the growth pattern that will

lead to creation of more jobs without compromising labour productivity.
(Answer in 250 words)
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Q12. 71 9% fomm # wna s Tt smEvEEar #1 50 gfiwa WE, 9§ 2030 %

Q13.

Q14.

Q15.

Q16.

FAHMT Ho1l & AT F AT 2 3 I & e # fag Hifw | fawy fo5 3
afeidt e I8 Tl St Al § o I sevd uf # R v wEe
BT ? WESST | (250 Wisd1 # I <ifw)

Do you think India will meet 50 percent of its energy needs from renewable

energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain.

(Answer in 250 words)

WRA # PN IR F fawm f Fege o seimet when § ger et
2?7 (250 wsgl o 3w dfsm)

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words)

wferd $fY el w1 R 2 yRa # B ik Hwia fear F e 9w F aveEs @
Hehdt 8 ? (250 wsgi # IeR Aifor)

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words)

25 fegram, 2021ﬁ€ﬁ@wﬁméamaé?ﬂmuasﬂﬁmﬁﬁam§w% |
g T FE-AH W o fEivand § S 38 R v ¥ siahy e @ i
STl 8 ? 39 fiem & g 949 @ € 2 aee e & R s wn dwifid o @
THd & ? (250 Weal # e iforw)

Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this

mission ? What potential benefits does it hold for the human race ?
(Answer in 250 words)

At forspre 1 anumqd fagia @ R 2 A FY e w@ E 0 wife19 AE B
famfor 3q el A Frfanait 3 - gkt s # 2

(250 wrsgi ® I <ifom)
What is the basic principle behind vaccine development ? How do vaccines
work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words)
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Q17.

Q18.

Q19.

Q20.

HEe i (Afvas aE) H =i fifve i Afves Jaayg W sEe gwEl @
Joor@ HITU | FAE TIErhicd, 1997 % 3ATellh | TAlae ST 1 HR0T S+ aTed!
fier3d NEl & &R Hl FH FE & fou = 3ut 5 auese |

(250 3r=g} ¥ IR i)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words)

R # G AW % FHWUN UG YHIET HI GHIIEC | @R H FHE i 5 o0
YTy I TEUT dehATeh T 8 ? (250 Weal § 3Iw i)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ?

(Answer in 250 words)

TTgeR guan & fafvm aw w0 § 2 wrge gean i g S e § wEd g e
Hifsw 55w 3 6 &2 9% & =uUe TP Azt gran WG awadgEss et
N1 (250 w=2] # I )

What are the different elements of cyber security ? Keeping in view the
challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy.

(Answer in 250 words)

THAAATE Teh G, i 3t fasmrars ger @ < v féme snafie gram @
% ¥9 ¥ Yohe BT B | 39 HeM H I g HEI ol T4 Hig R FHETEg % @t
¥ fues it sgwaa wHifa &1 g df | (250 weg) § I @)

Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism.

(Answer in 250 words)
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